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1 OdsnacTp NpuMeHeHHUs
®onp onieHouYHBIX cpencts (POC), npeaHazHayeH AJis1 IPOBEPKU
pe3ynbTatoB ocBoeHus AucuuiinHbl OI'CH.03 «MHOCTpaHHbIN A3BIK B
PO ECCUOHATIBHON IESITEIBHOCTHY» NPOrpaMMbl TOJATOTOBKM CHEIUATUCTOB

CpeaHero

3BeHa (IIIICC3) mno cnenmnansHOocTH 27.02.03 ABTOMAaTHKA M

TeJIeMEeXaHMKA Ha TPAHCHIOPTe (AKeJe3HOA0POKHOM TpaHcnopte). DOC
BKJIFOUAET KOHTPOJIBHBIC MAaTEPHUAIIBI JJIS TPOBEICHUS TIPOMEKYTOUHOM
aTTectanuu B popme auddepeHnpoBaHHOro 3a4era B pamkax 4(2) cemectpa Ha
0a3e OCHOBHOTIO (Cpe/IHero) ol1iero oopa3oBaHusI.

®OC no3BOJISIET OIIEHUBATh YPOBEHb 3HAHUW M YMEHUH MO NUCIUIUIMHE,
onpeneneHHbIx o @I'OC CIIO no coorercTByromeit IIIICC3.

2 Pe3yabrarel ocBoeHus: AMCHUILIMHBI OT'CD.03 «MHOCTPAHHBINA A3BIK)

MOAJC/KAININEC KOHTPOJIIO

npodeccroHanbHbIE TEMBI,
- CTPOUTH TIPOCTHIC
BBICKa3bIBaHUs O cede U 0
cBoeit mpodeccroHambHOM
NeSITeNIbHOCTH,

- KpaTKo 00OCHOBBIBATh U
OOBSICHSITH CBOM JIEHCTBUS
(Texyuue u
TUTAHUPYEMBIE);

- IACATh TIPOCTHIC CBSA3HBIE
COOOIIeHUs Ha
npo¢eCcCuOHATBHBIC TEMBI
3HATh:

- MpaBUJIa MIOCTPOCHHUS
MIPOCTHIX U CIIOKHBIX
MpEeJI0KEHU N Ha
npodeccuoHabHBIC TEMBI,
- OCHOBHBIE

3HaHUe He0OXO0AUMOro oobemMa
JICKCUYCCKUX U Ir'paMMaTHYCCKUX
eIMHUIL JUI YTEHUS U NIepeBoJia
(co croBapeM) HHOCTPaHHBIX
TEKCTOB.

PesyabTaTnl 00y4yeHus IToxa3aTenn oeHKH pe3yJjbTaTa ®opmupyemble
(ocBOCHHBIE YMEHMH, KOMIIeTEeHIIUH
YCBOCHHbIE 3HAHHS)

B pesynbrare ocBoeHus - YMEHUE BBICKA3aThCsl Ha ®opmupyemMble
JUCLUILINHBI npodeCcCHOHATBHBIE/TIOBCETHEBHBIC | KOMIIETEH MM
00y4arouics T0KeH TEMBI B paMKax OMpPEeJCICHHON OK 02. Hcnoms3oBaThb
yMeThb: TEMaTUKU COBPEMEHHBIE  Cpe/ACTBa
- IOHUMATh OOLIUI CMBICT | - YMEHHE IEPEBECTH TEKCT(CO MIOKCKa, aHaIM3a U
YEeTKO NMPOU3HECEHHBIX CJIOBapeM) U OTNPEAETUTH €T0 MHTEpIIpETalU
BbICKa3bIBaHUI Ha TEMaTUKY uHpopManuy,

W3BECTHBIE TEMBbI - YMEHHE paccKa3aTh, OIUCaTh u nH(pOpMallOHHbIE
(mpoceccronanbHbie U coObITHS/ (PaKTHl HA OCHOBE TEXHOJIOTUHU IE
OBITOBBIE), TOHUMATh MPOCITYIaHHBIX/TIPOYUTAHHBIX BBITIOJTHEHUS 3a1a4y
TEKCThI Ha 0a30BbIE TEKCTOB npodeccuoHaTbHON
npodeccuoHanbHbIE TEMBI; JIeSITEJIbHOCTH;

- Y4aCTBOBATh B IUAJIOrax OK 04. DOddextuBHO
Ha 3HaKOMBbIE 001Iue U B3alMOJICIICTBOBATH

u pa60TaTB B KOJIJICKTHBEC
" KOMaHJE,

OK 09. TIlonws3oBarbes
po¢eCCHOHATBHON

JIOKyMEHTanuen Ha
rOCyJIapCTBEHHOM 51

HHOCTPAHHOM A3bIKaX




001IeyoTpeONTETHLHBIC
r1aroJibl (ObITOBas M
npodeccuoHaIbHas
JIEKCHKA);

- JIGKCUYECKUI MUHUMYM,
OTHOCSIIHICS K OTIMCAHHIO
MPEIMETOB, CPEICTB U
MIPOIIECCOB
npodeccnoHaTbEHOM
NeSITeTbHOCTH;

- 0COOEHHOCTH
MIPOU3HOIICHHUS;

- IpaBUJIa YTCHUS TEKCTOB
npodeCCHOHATLHON
HaIpPaBJICHHOCTH.

3 Kpurepuu BbICTABJICHUS OL[CHOK
YcerHBIM OTBET oOywaromierocs oleHuBaeTcs Ha auddepeHIIMpOBaHHOM 3ayeTe
II0CJIC IMTOATOTOBKH OTBETA U KJIaCCI/I(I)HIII/IpyeTC}I B COOTBETCTBUMH C Ta6J]I/H_Ieﬁl
KpI/ITepI/II/I BBICTAaBJICHUA OLICHOK OI.[GHKa

OO0yyaromuiics: OTnnyHO (3a4TEHO)

- [lepeBoUT TEKCT B IOJIHOM OOBEME.

JlaeT TOYHBIN I1epeBOJ TEXHUYECKUX TEPMUHOB. Jlnanor
COOTBETCTBYET KOMMYHHMKAaTHBHOM 3aaue.

- He nonmyckaer rpaMMaTH4eCKUX OIIUOOK B peun

-Mcnonp3yer B peun JeKCHUECKUE eMHUIIBI TPO(eCCHOHATEHON
HaIpaBJIEHHOCTH B TTOJIHOM oObeMe (He meHee 10).

- Bepno permn 6onee 85% 3ananuii Tecra.

OOyyaromuiics: Xopo1io (3a4TeHo)
- IlepeBogut Gonee 70% Tekcra. [lepeBoauT HEKOTOPHIE

TEXHUYECKUX TEPMHHOB.
- JlomyckaeT HECKOIBKO TPaMMAaTHUUYECKUX OITHOOK B PEUH.
Jlnajor yacTHYHO HE COOTBETCTBYET KOMMYHHMKATHBHOM 3a1aue.
Hcnonp3yeT B peun JIeKCUYeCKUe eIMHULbI TPOoPecCrOHaIbHOMN
HampaBJIEHHOCTH (HEe MeHee 4).

- Bepno pemmn 6onee 75% 3ananuii Tecra.

OOyuarommiics: VY 10BIE€TBOPUTEITHHO
.- IlepeBoaut 6Gomnee 50% TekcTa. (3a4TeHo)

- JlomyckaeT HalM4yue rpaMMaTUYecKiX OUIMOOK B peyu.
Jlnaor 4aCTHYHO COOTBETCTBYET KOMMYHUKATUBHOH 3a/1a4e.
Hcnonb3yer HeJ0CTaTOYHOE KOJIMYECTBO JICKCHUECKUX €IMHUI]
npodeCCHOHAIBPHON HANPaBIEHHOCTH (MeHee 4)

-Bepro penmin 6onee 50% 3ananuii Tecta

OObyyaromuiics: HeynosnerBopurenbHO
~IlepeBogut menee 50% Tekcra. (He 3auTeHO)

- He ucnone3yer ngekcuueckue eUHUALIBI PO ECCHOHATBHON

HAIpaBJICHHOCTHU

- Jlonmyckaet MHOTO rpaMMaTHYECKUX OIUOOK B peu. Juanor
HE COCTaBJICH.
-Bepno pemun menee 50% 3amanuii Tecta




4 TunoBble KOHTPOJIbLHbIE 32IaHUS UJIM MHbIE MaTePUAJIbl, HE00OX0TUMBbIE JIJIf
OLICHKM 3HAHUN U YMEHU U

4.1Bompocs! amst NpOBEACHUS IPOMEXKYTOUHOM aTTecTaiui B hopme
nuddepeHIIMPOBAaHHOTO 3a4eTa

4 cemecTp
IlepeyeHb THNOBBIX TEM /JIsl COCTABJIEHHS] MOHOJIOTHYECKOT0 BHICKA3bIBAHUS

1. OtaeIx, Typu3mM
2. VIcKycCTBO M pa3BJeueHUs
3. [Ipodeccuu u npodeccronanpHbIe KadecTBa, MPO(HEeCCHOHATBLHBIN POCT, Kapbepa
4. HayuHo-TeXHHUYECKHI mporpecc
Hepeqem, THUIIOBBIX TEM JAJ1 COCTABJICHUSA IUAJTOI'NYECCKOI'0 BbICKAa3bIBAHUSA
1. HaBbIku 001IE€CTBEHHOM KHU3HH (IIOBCEAHEBHOE MOBEICHHE, TPO(PECCHOHANTBHBIC HABBIKH U
YMEHHUS)
2. HayuyHo-TexHHUYeCKHI mporpecc
3. FOCYI[apCTBO " IpaBoO, MEXKAYHAPOJHBIC OTHOILICHU A
Tunosoii TekcT AJI YTCHUH, IIEpeBoaa U oﬁcyme}mﬂ (OTBeTOB Ha BOl'IpOCbI)
[IpounTaiite TekcT, NepeBeUTE TEKCT HA PYCCKUM SA3bIK (CO CIIOBApeM), OTBETHTE HA BOIPOCHI:

1. When did the Digital Revolution start?

2. What are the advantages of the progress?

3. What are the disadvantages of the progress?
The Digital Revolution is considered to be the Third Industrial Revolution that, according to
scientists, started in the 1940s but was widely accepted only thirty years later in the 1970s.
Nowadays, this Revolution has achieved great results and has affected our lifestyle, habits and
even mentality. It goes without saying that the technological progress has also exerted a significant
impact on interpersonal communication. However, it is not always clear whether the progress is a
positive or a negative thing. On the one hand, there are many advantages of the progress which
allow us to consider it as an opportunity. Firstly, it helps to develop human relations by means of
the internet and electronic devices, such as PC, telephone, and tablet. We have become closer not
only to those people who live nearby but to those who live in other countries as well. Secondly,
the technological progress has an impact on interpersonal communication from a more global point
of view. On the other hand, the Digital Revolution does not consist only of positive aspects. First
of all, in some cases, the interpersonal communication becomes more primitive and people forget
how to communicate with others personally. This leads to a more serious one that is about fear of
in-person meetings. Finally, in the Digital Age, we rely more on technology and less on each other.

As a result, we become more independent of other people and may feel more confident; however,



it is only an illusion as we actually become helpless.

TunoBbIe TeCTOBbIE 3aJaHUSA IO IrpaMmMaTHUKeE U JICKCUKE IIPOBEPHIOT:
VYmMmenue INPUMCHATE Ha IIPAKTUKE JICKCHUKO-IPAMMATHYCCKHUEC 3HaHHWsA, IIOJTYYCHHBIC B XOJC

HN3YUYCHUSA TUCHUIIINHBI]

Bapuant 1
BriOepute 0/1MH U3 MPEIOKEHHBIX OTBETOB

1. John....... In London.
a. live b. lives c. are
2. London is .... capital of the UK.
a. a b. an c. the
3. London is situated in the ....... of Great Britain.
a. north b. south-west c. south-east
4. John __ ateacher.
a. am b. are c.is
5. He works .... School.
a. in b. at c.on
6. John...... London University two years ago.
a. finished b. finish c. finishes
7. Whilehe ........ at the university he made friends with Bet Green from the USA.
a. studied b. was studying c. will study
8. The USA is .... than Great Britain.
a. big b. biggest c. bigger
9. The capital of the USA'is .......
a. New York b. Chicago c. Washington
10. Many people ..... to America every day.
a. come b. are come C. comes
11. At the moment John ........ to San Francisco, Bet’s native city.
a. isflying b. will fly c. fly
12. He ...... by Bet to spend a holiday in California.
a. invited b. are invited c. was invited
13. Tomorrow John ...... in the Pacific Ocean!
a. will swim b. swim C. swimming
14. The USA ......... by two oceans: the Atlantic Ocean and the Pacific Ocean.
a. wash b. washed c. is washed
15. The Pacific Ocean is ........ than the Atlantic Ocean.
a. large b. larger c. largest
16. The Pacific Ocean is the ..... ocean in the world.
a. large b. larger c. largest
17. Inthe USA ........ many rivers.
a. thereare b. there is c there was
18. Rivers ....... into the oceans.
a. flow b. flows c. is flown
19. John wants to travel ..... ship.
a. on b. at c. by
20. In Hollywood he wants to see the ......... American actors .
a. more famous b. most famous c. famousest



21. John thinks that American films are the ........ .

a. better b. goodest C. best
22. John hopes thathe ......... happy in the USA.

a. s b. was c. will be
Bapuant 2

Bri6epute 01uH U3 IpeI0KEHHBIX OTBETOB

1. Bet....... in Washington.

a. lives b. live c. are

2. Washington is .... capital of the USA.

a. the b. an c.a

3. Washington ............. in the east of the USA..

a. situate b. situated c. is situated

4, Bet____ adoctor.

a. am b.is c. are

5. He works .... hospital.

a. in b. at c.on

6. Bet...... University two years ago.

a. finished b. finish c. finishes
7. Whilehe........ at the university he made friends with John Bright from the UK.
a. studied b. was studying C. study

8. The UK is ....than the USA.

a. small b. smaller c. smallest

9. The country ....... 4 parts.

a. have b. is haved c. has

10. England is the ........... part of the country.

a. big b. biggest c bigger

11. Many tourists ..... to Great Britain every day.

a. come b. are come C. comes

12. At the moment Bet ........ to Edinburg, John’s native city.

a. isflying b. will fly c. fly

13. He ...... by John to spend a holiday in Scotland.

a. invited b. are invited c. was invited

14. Tomorrow Bet ...... in the North Sea!

a. will swim b. swim C. swimming

15. Great Britain ......... by two seas: the Irish Sea and the North Sea.
a. wash b. washed c. is washed

16. The North Sea is ........ than the Irish Sea.

a. larger b. large c. largest

17. In Great Britain ........ many rivers.

a. there are b. there is c there was

18. Rivers ....... into the seas.

a. flow b. flows c. is flown
19. Bet wants to travel ..... ship.

a. on b. at c. by

20. Bet wants to visit the Museum of Robert Burns, the ....... Scottish poet. .
a. more famous b. most famous c. famousest

21. Alot of poems ...... by Robert Burns.



a. write b. wrote C. were written

22. John hopes thathe ......... happy in Scotland.
a. is b. was c. will be
4 cemecTp

Hepeqenb THIIOBBIX TEM AJIA COCTABJCHUA MOHOJOI'HNY€CKOI'O BBICKAa3bIBAHUA
1. CoBpemeHHasl curHajIM3alys Ha )KeJIe3HOH 1opore
2. Acropus curHanvsanuu
Hepeqem, THUIIOBBIX TEM J1J COCTABJICHUA IUAJTOINYCCKOI'0O BbICKa3bIBAHUSA
1. ABTOMaTH4ECKUI KOHTPOIb
TekeT 1J11 nepeBoAa M 00Cy:K1eHUA (0TBETOB HA BONPOCHI)

a. How many continents do railways cover?

b. What do railways carry?

c. What is the technical possibility of modern transport?

d. Where are modern computerized systems used?

RAILWAYS TODAY AND TOMORROW

The railways of today extend over 1,100000 kilometers covering all five continents:
Europe, America, Asia, Africa and Australia. The goods traffic of the railways of all countries
total 7,4 billion t/km. the railways carry billions of passengers a year. This is good proof to the
importance of railways for the life of the world’s community.
The technical possibility of this mode of transport is enormous indeed. Electric and diesel
electric traction play a leading role in handling traffic. Specialized wagons and containers are used
on an ever increasing scale. Heavy rails are widely used. Modern computerized systems have
become an integral part of stations, shops and traffic control centres.
The modern community can hardly be imagined without railways although their role is
different in various countries. In some of them railways are the main mode of transport while in
others railway play a comparatively small role in the overall forwarding process. However there
is a specific area of activity of the railways. The most typical is the handling of immense volumes
of commuter traffic as well as long distances traffic while forwarding passengers overdistances of
1000 or 1500 km, carrying bulk goods such as coal, ore, timber, cement, grain, motor cars etc, and
forwarding industrial products and food using containers to move them from door-to-door.
Tunosble TeCTOBBIE 3a/IaHUs 10 TPAMMATHUKE U JIEKCHUKE ITPOBEPHAIOT:
YmMmenne MNPUMCHATh Ha MPAKTUKC JICKCUKO-TPAMMATUUYCCKHUC 3HAHUWA, IMOJTYYCHHBIC B XOJC

HU3YUYCHUS JUCHUIIIINHBI,

Bapuanr 1



BriGepute oauH U3 MpeasioKEHHBIX OTBETOB

Transport in India

1. John Palmer___ arailway worker in India.

a. am b.is c.are
2. Two years ago he the Railway Academy.

a. finish b. finishes c. finished
3. Heand his partners _____in the Konkani Railway Corporation.

a. work b. works c. is worked
4. The company Konkani Railway __ in 1990.

a. formed b. is formed c. was formed
5. The company provides for a large number of people.

a. employment b. employ c. employed
6. The Konkani Railway has the railway tunnel in India.

a. long b. longer c. longest
7. The tunnel is with sensors to monitor air contamination.

a. equipped b. equipping C. equipment
8. The ventilation system is activated via the data from the sensors.

a. automation b. automatical c. automatically
9. The position of the train within the tunnel ___ on a panel in the traffic control room at the

tunnel entrance.

a. is indicated b. are indicated c. indicated
10. John is a computer

a. engine b. engineer C. engineering
11. John thinks that his job is very :

a. import b. important c. importance
12. He usually starts his workingday 9 o’clock.

a.on b.in c.at
13. He usually goes towork _ car.

a. by b.in c.on
14. John enjoys acar.

a. drive b. driving c. to drive
15. Now John with railway specialists from Russia.

a. meets b. met c. Is meeting
16. It’s good that John _ speak Russian.

a. can b. may C. must
17. _ Russian language is getting popular in India.

a. The b. A c. An
18. He hopes that their meeting successful.

a. be b. will be C. was
19. John work very hard to achieve success.

a. can b. may C. must

Bapuanr 2.

Bri6epute npaBuIbHbINA OTBET
Transport in India

1. John Cramer as a railway worker in India.
a. work b. works c. worked



4.2

s E

2. Two years ago he a student at the Railway Academy.

a. was b.is c. will be
3.Now he __inthe Konkani Railway Corporation.
a. work b. works c. is worked
4.The company Konkani Railway _ in 1990.
a. found b. is founded c. was founded
5. The company has a large number of
a. employees b. employment c. employers
6. The Konkani Railway has the railway tunnel in India.
a. longest b. longer c. long
7. The ___ of the tunnel was brought from the UK.
a. equipped b. equipping c. equipment
8. The ventilation system is activated via the data from the sensors.
a. automation b. automatical c. automatically
9.The position of the train within the tunnel _____ on a panel in the traffic control room at the tunnel
entrance.
a. indicated b. are indicated c. is indicated
10.John’s job with computers .
a. Is connected b. were connected  c. are connected
11.John’s job is very .
a. tire b. tiring c. tired
12. His working day begins 10 o’clock.
a.on b.in c.at
13. He usually goes to work ___ bike.
a. by b.in c.on
14. John enjoys .
a. ride b. riding c. to ride
15. Now John and his partners with railway specialists from Russia.
a. meets b. is meeting c. are meeting
16. John __ speak Russian very well.
a. can b. can’t C. must
17. He ___ learn Russian very hard.
a. must b. mustn’t C. may
18. _ Russian language is very difficult.
a. A b. An c. The
19. John is sure that their meeting them success.
a. bring b. will bring c. brought

HNHubie MaTepuabl

[TpounTaiite Texct. OnpenenauTe NpaBIUBOCTh (PAKTOB
TRANSPORT IN THE USA

Water transport in the USA developed later than road transport.

In 19" century the US government supported Railway companies.

Both motor transport and railways were popular in the 20" century in the USA.
Air transport became the leader of travel between the two world wars.

In the 1990s railways carried more freight than motor transport.



Passengers prefer travelling by train to traveling by car.

There are more roads in the east than in the west.

There are more roads in the South than in the North.

The task of the National Interstate Highway System is to link states and cities.
0. In the 1990s there were less cars than lorries in the USA.

HBoo~No®

The development of transport facilities was very important in the growth of the United States.
The first travel routs were natural waterways. No surfaced roads existed until the 1790s, when
the first highways were built. Besides the overland roads, many canals were constructed
between the late 18" century and 1850 to link navigable rivers and lakes | the eastern United
States and in the Great Lakes region.

Steam railway began to appear in the East in the 1820s. The first transcontinental railway was
constructed between 1862 and 1869 by the Union Pacific and Central Pacific companies, both
of which received large subsidies from the federal government. Transcontinental railways were
the chief means of transport used by European settlers who populated the West in the latter
part of the 19" century. The railways continued to expand until 1917, when their length reached
a peak of about 407 000 km. Since then motor transport became a serious competitor to the
railway both for passengers and freight.

Air transport began to compete with other modes of transport after World War 1. Passenger
service began to gain importance in 1920s, but not until the beginning of commercial jet craft
after World War 11 did air transport become a leading mode of travel.

During the early 1990s railways annually handled about 37.5 per cent of the total freight traffic;
trucks carried 26 per cent of the freight, and oil pipelines conveyed 20 per cent.

Private cars carry about 81 per cent of passengers. Airlines are the second leading mover of
people, carrying more than 17 per cent of passengers. Buses are responsible for 1.1 per cent,
and railways carry 0.6 per cent of passengers.

The transport network spreads into all sections of the country, but the web of railways and
highways is much more dense in the eastern half of the United States.

In the early 1990s the United States had about 6.24 million km of streets, roads and highways.
The National Interstate Highway System, 68 449 km in length in the early 1990s, connected
the nation’s principle cities and carried about one-fifth of all the road and street traffic.

More than 188 million motor vehicles were registered in the early 1990s. More than three
quarters were cars — one for every two persons in the country. About one fifths of the vehicles
were lorries. Amtrak (the National Railroad Passenger Corporation), a federally subsidized
concern, operates almost all the inter-city passenger trains in the US. It carried more than 221
million passengers annually in the early 1990s.

2. Hcnonp3yiiTe B TEKCTE CIIOBA, MOAXOISAIIME [0 CMBICIY W TPaMMAaTHKE

Railway Transport

Railways are very important, because they carry 1 and 2 far and fast . The train
consists of oneortwo 3 andmany __ 4 . Trains move alongthe 5  that
consists of 6 , 7 and 8 . Trainsstopatthe 9 where

10 can get on or get off the train. 11  make the trip comfortable: they check
tickets, sell drinks and food, clean the car. Modern 12 are very fast and modern _ 13
are very nice.They are made of different 14

3. 3apaiiTe BOIpOCHI 0 *KeJe3H0i Jopore B ABcTpaiuu. Haiiante oTBeTH B TEKCTE

1. A line between Melbourne and Port Melbourne was built in .... . When?
2. Ittook...... to build railways in Australia. How many years?
3. There are ..... rail gauges in Australia. How many gauges?



4. Most of the railways are controlled by ..... . Who?
5. Private lines carry ...... What?
6. Freight lines carry goods to ... . Where?

Railways in Australia

In Australia railways were constructed in all colonies between 1854, when a line was built between
Melbourne and Port Melbourne, and 1871. Trivial disagreements among the self-protecting
colonies blocked the creation of any master plan and saddled Australia with three different rail
gauges: the standard gauge of 4 feet 81/2 inches (144 cm) in New South Wales, the broad gauge
of 5 feet 3 inches (160 cm) in Victoria and South Australia, and the narrow gauge of 3 feet 6 inches
(107 cm) in Queensland, Tasmania, Western | and the northern extremities of South Australia. It
took until 1970 to standardize one continuous line between Perth and Brisbane, along which the
India-Pacific train now travels. It crosses the Nullarbor Plain on the longest straight stretch of rail
track in the world — 300 miles (480 km). State governments control most of the railways, including
the profitable electrified commuter lines in the cities. The Commonwealth government controls
the railways of Tasmania, the Northern Territory, and parts of the transcontinental line. Private
freight lines convey iron ore, sugar, coal and other goods to the nearest ports.



